



IJRASET

International Journal For Research in
Applied Science and Engineering Technology



INTERNATIONAL JOURNAL FOR RESEARCH

IN APPLIED SCIENCE & ENGINEERING TECHNOLOGY

Volume: 11 **Issue:** III **Month of publication:** March 2023

DOI: <https://doi.org/10.22214/ijraset.2023.49478>

www.ijraset.com

Call:  08813907089

E-mail ID: ijraset@gmail.com

Solutions of the Transcendental Equations

$$p^2 - \sqrt[3]{p^5 + q^5 - (pq)^3} + \sqrt[3]{r^2 + s^2} = k^3(n^2 + 1)$$

P. Saranya¹, M. Shri Padmapriya²

¹Assistant Professor, ²PG Student, PG and Research Department of Mathematics, Cauvery College for Women (Autonomous),
Affiliated to Bharathidasan University, Trichy – 18.

Abstract: We make an effort and elucidate the integral solutions of the transcendental equation $p^2 - \sqrt[3]{p^5 + q^5 - (pq)^3} + \sqrt[3]{r^2 + s^2} = k^3(n^2 + 1)$ under multiple patterns with certain numerical examples.

Keywords: Transcendental Equation, Integral solution, Diophantine equation.

I. INTRODUCTION

A transcendental equation is one with the transcendental functions of the variables that need to be resolved. These equations are solved easily until the variables are roughly known. Numerous equations in which the variables appear to provide an argument for only elementary solutions are used to solve transcendental functions.

We frequently label a function as transcendental when an analytical function cannot be solved by a polynomial equation. It cannot be formulated in terms of a finite sequence of addition, multiplication, and root extraction operations in pure mathematics.

The well-known transcendental functions include the logarithmic, exponential, trigonometric, hyperbolic, and inverse of all of the aforementioned. Some unexpected transcendental functions are included together with specific functions of analysis like elliptic zeta and gamma.

[1-2] has been recommended for fundamental notions and concepts in number theory. For fundamental theories and concepts regarding number theory, [3-5] has been analyzed. For Transcendental equation-related ideas and problems and various methods of solving Diophantine type equations [6-14] were observed.

II. TECHNIQUE FOR ANALYSIS

The equation to be solved is,

$$p^2 - \sqrt[3]{p^5 + q^5 - (pq)^3} + \sqrt[3]{r^2 + s^2} = k^3(n^2 + 1) \tag{1}$$

The following linear transformation, $p=(u-v)^3$, $q=(v-u)^3$, $r=u^3-3uv^2$, $s=3u^2v-v^3$ leads to

$p^2 - \sqrt[3]{p^5 + q^5 - (pq)^3} + \sqrt[3]{r^2 + s^2} = u^2 + v^2$. Hence, $p^2 - \sqrt[3]{p^5 + q^5 - (pq)^3} + \sqrt[3]{r^2 + s^2} = u^2 + v^2$ reduces to,

$$u^2 + v^2 = k^3(n^2 + 1) \tag{2}$$

Now we find various patterns of solutions of (1) using (2).

A. Pattern 1

Let $k = y^2 + z^2$, for $y, z \geq 0$

$$u^2 + v^2 = (y^2 + z^2)^3(n^2 + 1) \tag{3}$$

Using factorization and equating real and imaginary parts we get,

$$u = n(y^3 - 3yz^2) - (3y^2z - z^3)$$

$$v = (y^3 - 3yz^2) + n(3y^2z - z^3)$$

Therefore, $u = nf(y, z) - g(y, z)$ and $v = f(y, z) + ng(y, z)$

where, $f(y, z) = y^3 - 3yz^2$ and $g(y, z) = 3y^2z - z^3$

Hence, for all $n \geq 0$ the non-zero integral solutions are found to be,

$$p = (n - 1)f(y, z) - (n + 1)g(y, z)$$

$$q = (n + 1)g(y, z) - (n - 1)f(y, z)$$

$$r = (nf(y, z) - g(y, z))^3 - 3(nf(y, z) - g(y, z))(f(y, z) + ng(y, z))^2$$

$$s = 3(nf(y, z) - g(y, z))^2(f(y, z) + ng(y, z)) - (f(y, z) + ng(y, z))^3$$

Numerical examples satisfying the solution are listed below.

TABLE 1						
n	p	q	r	s	k	LHS=RHS
1	-64	64	-64	0	2	16
2	-125	125	5500	-14625	5	625
0	-85184	85184	7696	30672	10	1000
3	1259712	-1259712	-511758	354294	9	7290

B. Pattern 2

Equation (3) can be rewritten as,

$$u^2 + v^2 = 1 \cdot (y^2 + z^2)^3 (n^2 + 1)$$

Taking , $1 = \left(\frac{24^2 + 10^2}{26^2} \right)$

$$u^2 + v^2 = \left(\frac{24^2 + 10^2}{26^2} \right) (y^2 + z^2)^3 (n^2 + 1)$$

Using factorization and equating real and imaginary parts we get,

$$u = \frac{n(24y^3 - 30y^2z - 72yz^2 + 10z^3) - (10y^3 + 72y^2z - 30yz^2 - 24z^3)}{26}$$

$$v = \frac{n(10y^3 + 72y^2z - 30yz^2 - 24z^3) + (24y^3 - 30y^2z - 72yz^2 + 10z^3)}{26}$$

Take $y = 26A$ and $z = 26B$ we get,

$$u = n(16224C^3 - 20280C^2D - 48672CD^2 + 6760D^3) - (6760C^3 + 48672C^2D - 20280CD^2 - 16224D^3)$$

$$v = n(6760C^3 + 48672C^2D - 20280CD^2 - 16224D^3) + (16224C^3 - 20280C^2D - 48672CD^2 + 6760D^3)$$

Therefore, $u = nf(C, D) - g(C, D)$ and $v = ng(C, D) + f(C, D)$

where, $f(C, D) = 16224C^3 - 20280C^2D - 48672CD^2 + 6760D^3$ and

$$g(C, D) = 6760C^3 + 48672C^2D - 20280CD^2 - 16224D^3$$

Hence, for all $n \geq 0$ the non-zero integral solutions are found to be,

$$p = (n - 1)f(C, D) - (n + 1)g(C, D)$$

$$q = (n + 1)g(C, D) - (n - 1)f(C, D)$$

$$r = (nf(C, D) - g(C, D))^3 - 3(nf(C, D) - g(C, D))(ng(C, D) + f(C, D))^2$$

$$s = 3(nf(C, D) - g(C, D))^2(ng(C, D) + f(C, D)) - (ng(C, D) + f(C, D))^3$$

Numerical examples satisfying the solution are listed below.

TABLE 2						
n	p	q	r	s	k	LHS=RHS
1	34163613499392	-34163613499392	5965781466112	-14150813867008	676	617831552
2	- 1313364071305730	1313364071305730	- 1008323104966530000	641018953024699000	6084	1125998003520
0	- 3379862333173250	3379862333173250	-6064392324463620	-4560736135141890	3380	38614472000
3	- 4711889860001790	4711889860001790	-3802441815457790	796834651897856	1352	24713262080

C. Pattern 3

Taking (3) as in pattern 2 and replacing '1' as $\left(\frac{48^2 + 20^2}{52^2}\right)$, we get $u^2 + v^2 = \left(\frac{48^2 + 20^2}{52^2}\right)(y^2 + z^2)^3(n^2 + 1)$

Using factorization and equating real and imaginary parts we get,

$$u = \frac{n(48y^3 - 60y^2z - 144yz^2 + 20z^3) - (20y^3 + 144y^2z - 60yz^2 - 48z^3)}{52}$$

$$v = \frac{n(20y^3 + 144y^2z - 60yz^2 - 48z^3) + (48y^3 - 60y^2z - 144yz^2 + 20z^3)}{52}$$

Take $y = 52A$ and $z = 52B$ we get,

$$u = n(129792C^3 - 162240C^2D - 389376CD^2 + 54080D^3) - (54080C^3 + 389376C^2D - 162240CD^2 - 129792D^3)$$

$$v = n(54080C^3 + 389376C^2D - 162240CD^2 - 129792D^3) + (129792C^3 - 162240C^2D - 389376CD^2 + 54080D^3)$$

Therefore, $u = nf(C, D) - g(C, D)$ and $v = ng(C, D) + f(C, D)$

where, $f(C, D) = 129792C^3 - 162240C^2D - 389376CD^2 + 54080D^3$ and

$$g(C, D) = 54080C^3 + 389376C^2D - 162240CD^2 - 129792D^3$$

Hence, for all $n \geq 0$ the non-zero integral solutions are found to be,

$$p = (n - 1)f(C, D) - (n + 1)g(C, D)$$

$$q = (n + 1)g(C, D) - (n - 1)f(C, D)$$

$$r = (nf(C, D) - g(C, D))^3 - 3(nf(C, D) - g(C, D))(ng(C, D) + f(C, D))^2$$

$$s = 3(nf(C, D) - g(C, D))^2(ng(C, D) + f(C, D)) - (ng(C, D) + f(C, D))^3$$

Numerical examples satisfying the solution are listed below.

TABLE 3						
n	p	q	r	s	k	LHS=RHS
1	17491770111688700	- 17491770111688700	3054480110649340	- 724521669990810 0	2704	39541219328
2	- 17491770111688700	17491770111688700	- 13429144542414600 000	853727950117903 0000	10816	63265950924 80
3	- 31638922461786900 0000	31638922461786900 0000	12276093484472700 0000	482307976875213 0000	13520	24713262080 000
0	10122552147968000	- 10122552147968000	57961733599264800	244358408851948 00	5408	15816487731 2

D. Pattern 4

Taking (3) as in pattern2 and replacing 1 as $\left(\frac{40^2 + 30^2}{50^2}\right)$

$$u^2 + v^2 = \left(\frac{40^2 + 30^2}{50^2}\right)(y^2 + z^2)^3(n^2 + 1)$$

Using factorization and equating real and imaginary parts we get,

$$u = \frac{n(40y^3 - 90y^2z - 120yz^2 + 30z^3) - (30y^3 + 120y^2z - 90yz^2 - 40z^3)}{50}$$

$$v = \frac{n(30y^3 + 120y^2z - 90yz^2 - 40z^3) + (40y^3 - 90y^2z - 120yz^2 + 30z^3)}{50}$$

Take $y = 50A$ and $z = 50B$ we get,

$$u = n(10000C^3 - 22500C^2D - 30000CD^2 + 75000D^3) - (7500C^3 + 30000C^2D - 22500CD^2 - 10000D^3)$$

$$v = n(7500C^3 + 30000C^2D - 22500CD^2 - 10000D^3) + (10000C^3 - 22500C^2D - 30000CD^2 + 75000D^3)$$

Therefore, $u = nf(C, D) - g(C, D)$ and $v = ng(C, D) + f(C, D)$

where, $f(C, D) = 10000C^3 - 22500C^2D - 30000CD^2 + 75000D^3$

and $g(C, D) = 7500C^3 + 30000C^2D - 22500CD^2 - 10000D^3$

Hence, for all $n \geq 0$ the non-zero integral solutions are found to be,

$$p = (n - 1)f(C, D) - (n + 1)g(C, D)$$

$$q = (n + 1)g(C, D) - (n - 1)f(C, D)$$

$$r = (nf(C, D) - g(C, D))^3 - 3(nf(C, D) - g(C, D))(ng(C, D) + f(C, D))^2$$

$$s = 3(nf(C, D) - g(C, D))^2(ng(C, D) + f(C, D)) - (ng(C, D) + f(C, D))^3$$

Numerical examples satisfying the solution are listed below.

TABLE 4						
n	p	q	r	s	k	LHS=RHS
0	- 24414062500000000 0	24414062500000000 0	- 48828125000000000 0	- 26855468750000000 00	12500	19531250000 00
2	- 10000000000000000 00	10000000000000000 00	- 11000000000000000 000	- 20000000000000000 00	10000	50000000000 00
3	- 16637500000000000 0	- 16637500000000000 0	- 15031250000000000	- 59906250000000000	2500	15625000000 0
1	- 42187500000000000 0000	- 42187500000000000 0000	- 17187500000000000 0000	- 31250000000000000 000	25000	31250000000 000

III. CONCLUSION

In this post, we have explained the essential solutions to the transcendental equation $p^2 - \sqrt[3]{p^5 + q^5 - (pq)^3} + \sqrt[3]{r^2 + s^2} = k^3(n^2 + 1)$ under complex patterns utilizing various numerical examples.

Additionally, one could look for detailed answers to these similar types of equations.

REFERENCES

- [1] L.E.Dickson, History of Theory of numbers, vol 2, Chelsea publishing company, New York, 1952.
- [2] L.J. Mordel, Diophantine Equations, Academic press, New York,1969.
- [3] P.Saranya, G.Janaki, "EXPLICATION OF THE TRANSCENDENTAL EQUATION $p + \sqrt{p^3 + q^3 - pq} + \sqrt[3]{r^2 + s^2} = (m^2 + 1)k^3$ ", International Research Journal of Engineering and Technology (IRJET), Vol4, issue11, Nov 2017, PP-1042-1044.
- [4] P.Saranya, G.Janaki, "On the Exponential Diophantine Equation $36^x + 3^y = z^2$ ", International Research Journal of Engineering and Technology(IRJET), Vol 4, Issue 11, Nov 2017, PP- 1042-1044.
- [5] P.Saranya, G.Janaki, "Ascertainment on the Exponential Equation $p^{3c} - a(p^{2c} - p^b) = p^{b+c}$ ", Compliance Engineering journal(CEJ), Vol 10, issue 8, July 2019, PP- 225-229.
- [6] M.A Gopalan, and S.Devibala, "A remarkable Transcendental Equation" Antartica.J.Math.3 (2),(2006),209-215.
- [7] Gopalan M.A and Kalinga Rani J, "On the transcendental equation $x + g\sqrt{x} + y + h\sqrt{y} = z + g\sqrt{z}$ ", International Journal of Mathematical Sciences, Vol-9, No-1-2, 177-182, 2010.
- [8] Gopalan M.A. and Pandichelvi, "Observations on the transcendental equation $z = \sqrt{x} + \sqrt[3]{kx + y^2}$ ", Diophantus J.Math., 1(2), 59-68, 2012.
- [9] G.Janaki,P.Saranya,"On the Ternary Quadratic Diophantine Equation $5(x^2 + y^2) - 6xy = 4z^2$ ", Imperial Journal of Interdisciplinary Research, Vol 2, Issue 3, 2016, PP: 396-397.
- [10] G.Janaki, P.Saranya, "On the Ternary Cubic Diophantine Equation $5(x^2 + y^2) - 6xy + 4(x + y) + 4 = 40z^3$ ", International Journal of Science and Research-Online, Vol 5, Issue 3, March 2016, PP: 227-229.
- [11] P.Saranya, G.Janaki, "On the Quintic Non-Homogeneous Diophantine Equation $x^4 - y^4 = 40(z^2 - w^2)p^3$ ", International Journal of Engineering Science and Computing, Vol 7, Issue 2, Feb 2017, PP: 4685-4687.
- [12] Janaki, G., & Saranya P, (2016). Special Pairs of Rectangles and Narcissistic Numbers of Order 3 and 4. IRJET, 3(08), 721-723.
- [13] Janaki, G., & Saranya P, (2016). Special Rectangles and Narcissistic Numbers of Order 3 and 4. International Journal for Research in Applied Science and Engineering Technology, 4(6), 630-633.
- [14] Gopalan M.A. Manju Somanth and Vanitha N, "On the Special Transcendental Equation", Reflections des ERAJMS.Vol-7,Issue-2.187-192,2012.



10.22214/IJRASET



45.98



IMPACT FACTOR:
7.129



IMPACT FACTOR:
7.429



INTERNATIONAL JOURNAL FOR RESEARCH

IN APPLIED SCIENCE & ENGINEERING TECHNOLOGY

Call : 08813907089  (24*7 Support on Whatsapp)